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pragma solidity "0.4.0;

contract Coin {

address public minter;

Minter B h#=

mapping (address => uint) public balances;
event Sent(address from, address to, uint amount);

function Coin() {

H FZEUK T
RAREBRMRE

minter = msg.sender;

}

function mint(address receiver, uint amount) {

if (msg.sender != minter) return;
balances|[receiver] += amount;

}

function send(address receiver, uint amount) {
if (balances|[msg.sender] < amount) return;
balances|[msg.sender]| -= amount;
balances[receiver] += amount;
Sent (msg.sender, receiver, amount);

}

function balances(address _account) returns (uint balance) {
return balances[_account];

}
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pragma solidity "0.4.8;
MiTEtoken JHERIEP L F
contract StandardToken is Token {

import "./Token.sol";//

function transfer(address _to, uint256 _value) returns (bool success) {
if (balances[msg.sender] >= value && _value > 0) {
balances[msg.sender] -= _value;
balances[_to] += _value;
Transfer(msg.sender, _to, _value);
return true;
} else { return false; }
}
function transferFrom(address _from, address _to, uint256 _value) returns (bool
success) {

if (balances[_from] >= _value && allowed[_from][msg.sender] >= _value && _value >

0) {
balances[_to] += _value;
balances[_from] -= _value;
allowed[_ from][msg.sender] -= _value;
Transfer(_from, _to, _value);
return true;

} else { return false; }
}

function balanceOf(address _owner) constant returns (uint256 balance) {
return balances[_owner];
}
function approve(address _spender, uint256 _value) returns (bool success) {
allowed[msg.sender][_spender] = _value;
Approval (msg.sender, _spender, _value);
return true;
}
function allowance(address _owner, address _spender) constant returns (uint256
remaining) {
return allowed[_owner][_spender];
}
mapping (address => uint256) balances;
mapping (address => mapping (address => uint256)) allowed;
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at the best rate
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Changelly

Transfer from one wallet to another within seconds. It's that simple.

- AY S AY
Dear Customers, we are experiencing issues with our exchange partner Poloniex due to high demand. Our apologies for the delayed transactions. ° % EFI n 1‘{{: El‘J R*ﬁ EFI n

- ®H, &%, WiEE
1000 USD «> YOUGET 2.2325296740082185! -
- il > - e ERl:

éugmiyh'h" Pl heck rates attentively befor - . .
USD/EUR rates are igh now, sorry. Please cl 'mtesanf e.epayment . %’ﬁﬁé}é’\]ﬁiﬁﬁT{Eﬁ:}ﬂZﬂ

15LTC Changelly 15LTC
Wallet
15LTC = 0.17 BTC

0.17 BTC = 396 000 DOGE

Srypte 394 020 DOGE wHialges @ Teastriabis 396 000 DOGE
“‘l“.“\“ :,1 ‘%T )
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The casino with a public RNG seed

1. ERQFFHIBEN H T

var seed =

web3.toBigNumber (web3.eth.getStorageAt (" 0x5fe5b7546d1628£7348b023 2 ﬁ}"':&jufﬁﬁ %ﬂl‘ﬁ*ﬂ.;&

a0393delfc825a4fd”, 1); BERNBEREREANEEA,
‘WEHEELFITEREN 2,

var num = (Math.pow((~~(seed * 3 + 1) / 2) % 10), 9) + %ngﬂ1{ﬂ@§5ﬂ%1’iﬁr

eth.getBlock("latest").number + eth.getBlock("latest").difficulty
+ eth.getBlock("latest").timestamp +

eth.getBlock("latest").gasLimit) % 37 E Eﬁﬁiﬁ% %BLHL;&E&%E ?Efulzﬁ.ﬁl]

num = Math.floor(num);

javascript
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Ponzi

while (balance > persons[payoutCursor_Id_].deposit / 100 x 115) {
uint MultipliedPayout = persons[payoutCursor_Id_].deposit / 100 x 115;
persons [payoutCursor_Id] ,etherAddress.send(MultipliedPayout);

balance —= MultipliedPayout;
payoutCursor_Id_++;

}
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The casino with a public RNG seed

FirePonzi

Rubixi 1 MakerDAO
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king of the Ether Throne
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def player input (choice):
if num players < 2 and msg.value == 1000: w m’
reward += msg.value huobi.com
player[num players].address = msg.sender
player[num players].choice = choice
num players = num players + 1 ® H&ZIK1

return(0)

else:
return(-1) 2 A\ =
def finalize(): ¢ %Iljlblgiﬁ
pO player[0] .choice ° 1 . iﬂjﬁgﬁ%&
pl player([1] .<':hoice o 2 3%%*[]%1

# If player 0 wins

if check winner[p0] [pl] == O: ° 3 Eﬁ]tl:llgld:l:%

send(0,player[0] .address, reward)

return (0) . .
# If player 1 wins Ll 1E%§é;}%;lﬂ?ﬁ%
elif check winner[p0] [pl] == 1:
send(0,player[l] .address, reward)
return (1)
# If no one wins else:
send(0,player[0] .address, reward/2)
send(0,player([l].address, reward/2)

return(2)
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def player input (choice):
if num players < 2 and msg.value == 1000: w m’
reward += msg.value huobi.com
player[num players].address = msg.sender
player[num players].choice = choice
num players = num players + 1 ® H&ZIK1

return(0)

else:
return(-1) 2 A\ =
def finalize(): ¢ %Iljlblgiﬁ
pO player[0] .choice ° 1 . iﬂjﬁgﬁ%&
pl player([1] .<':hoice o 2 3%%*[]%1

# If player 0 wins

if check winner[p0] [pl] == O: ° 3 Eﬁ]tl:llgld:l:%

send(0,player[0] .address, reward)

return (0) . .
# If player 1 wins Ll 1E%§é;}%;lﬂ?ﬁ%
elif check winner[p0] [pl] == 1:
send(0,player[l] .address, reward)
return (1)
# If no one wins else:
send(0,player[0] .address, reward/2)
send(0,player([l].address, reward/2)

return(2)
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def player input (choice):
if num players < 2 and msg.value == 1000: w ﬁ_j
reward += msg.value huobi.com
player[num players].address = msg.sender
player[num players].choice = choice

num players = num players + 1 i H}izli1 El/‘j I\Eﬂl—\E@

return(0)

1. B=THEANARZKIIBERT

et timattee: 2. A ABTMSF Ainput.
p0 = player[0] .choice ( IantIEEEH j{%&ﬁ y #E_-I'E
pl = player[l].choice i?j—: éi;%%ﬁl:l:l )

# If player 0 wins

if check winner[p0] [pl] == O: 3 Reward Z—IEIEﬁ?’]OOO ,L'\
send(0,player[0] .address, reward) 'jJ\

return (0)

# If player 1 wins

elif check winner([p0] [pl] ==
send(0,player[l] .address, reward)

return (1)

# If no one wins else:
send(0,player[0] .address, reward/2)
send(0,player[l].address, reward/2)

return (2)
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def|player input (commitment)

if num players < 2 and msg.value >= 1000:

—
reward += msg.value w m

player[num players].address = msg.sender huobi.com

player[num players].commit = commitment PY H}iz’:ZE/jﬁq:{j% r j(_ng IEU )ﬁ
num players = num players + 1
if msg.value - 1000 > O:
send (msg.sender, msg.value-1000) #% 4[1ERIE R 2;
return (0)
5 - X IR AN
AR EHEBE, REBEE

send (msg.sender, msg.value)
return (-1)

def o;en(ch;ice, nonce) : # AJF4ER ﬁﬁﬁﬂ%ﬁ?ﬁ{%iﬁ ﬁ%{%&[@

if not num players == 2: return(-1) # Determine which 52 Phs —a )
player is opening 1::|:/@ I EI%_A ;[j H/\] IQ EE‘

if msg.sender == player[0].address:

player num = 0

elif msg.sender == player([l].address:

B A7 ATREE T H

return (=1)

# Check the commitment is not yet opened

if sha3([msg.sender, choice, nonce], items=3) ==

0

layer [player num].commit and not

player[player num].has revealed:
# Store opened value in plaintext
player[player num].choice = choice
player[player num].has revealed = 1 return(0)
else:
return(-1)

¥ code omitted: HlEILFE.
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def check():
if self.test_callstack() != 1: return(-1)
#Check to make sure at least 10 blocks have been given * II'

for both players to reveal their play. huobi.com

if block.number - self.timer start < 10: return(-2)

=
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#check to see if both players have revealed answer
if self.player[0] .has_revealed and
self.player([l] .has revealed:

p0_choice = self.player[0].choice

i
X
B
=
jun
=
R
=
=
B

pl_choice = self.player([1l].choice]

$#1f player 0 wins ﬁﬁ{%/ \Ilzll\é
if self.check winner[pO_choice] [pl _choice] == 0: "b‘

send (0,self.player[0].address, self.reward)

return(0)
#If player 1 wins /\Q S -
ZBN » 2‘:
elif self.check winner[p0_choice] [pl_choice] == 1: ¢ //\j }]LﬂEEE:

send (0,self.player([l].address, self.reward)

> 0

return(l) ) BT ﬁ&j]l]%l_: input @U/E[\é/‘j
/ A, B 73 AlfEddIFEE
send (0,self.player[0].address, self.reward/2)

send (0,self.player([l].address, self.reward/2) ® *I-‘ﬁié %
/

return(2)

#If no one wins

else:

#if pl revealed but p2 did not, send money to pl

elif self.player[0].has_revealed and not

self.player([l] .has revealed:

send (0,self.player[0] .address, self.reward)

return (0)
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root@4bba7337blff:/oyente# python oyente.py -s test.sol
WARNING:root:You are using evm version 1.6.5. The suppor
WARNING:root:You are using solc version 0.4.12, The supp
:root:Contract test.sol:Coin:
:symExec:Running, please watit...

:symExec: Results

: symExec: CallStack Attack:

:symExec: Concurrency Bug:

: symExec: Time Dependency:

:symExec: Reentrancy bug exists: False

:symExec: Analysis Completed
root@4bba7337b1ff:/oyente# |}

MU ZEEEIR, EZEEH A
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pragma solidity 70.4.4;
contract testTime { wm
function generateRand() returns (uint) {
uint now_time = now + 1;
if (now % 2 == 0) {

|

return now;

huobi.com

}

return 0;
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unction Puzzle
owner = msg.sender; .
reward = msg.value; E‘J rT]
locked = false; huobi.com
diff = bytes32(11111);
}
function(){
if (msg.sender == owner){
if (locked)
throw;
owner.send(reward);
reward = msg.value;
}else
if (msg.data.length > 0){
if (locked) throw;
if (sha256(msg.data) < diff){
msg.sender.send(reward);
solution = msg.data;
locked = true;




Zeppelin+truffle F{T1CO MiX

O bash

[~]$ npm install zeppelin-solidity
Installing [

> zeppelin-solidity@1.0.0 install

> scripts/install.sh

[~]1$ vim ExampleToken.sol

[~]1$ truffle console

> var myToken = ExampleToken.deployed();

> myToken.totalSupply()
10000
> myToken.transfer(...)
true|

O vim ExampleToken.sol

pragma solidity "0.4.4;
"./StandardToken.sol";

contract ExampleToken is StandardToken {
string public name = "ExampleToken";
string public symbol = “EGT";

uint public decimals = 18;

uint public INITIAL_SUPPLY 10000;

function ExampleToken() {
totalSupply = INITIAL_SUPPLY;
balances[msg.sender] INITIAL_SUPPLY;
}
}
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library SafeMath {

function mul(uint a, uint b) internal returns

uint ¢ = a * b;

assert(a == 0 || c / a == b); I:I.’,ﬁﬂ BE II:I:II H,J‘—l-;.-

return c;

}
function div(uint a, uint b) internal returns
uint ¢ = a / b;

return c;

by

function sub(uint a, uint b) internal returns
assert(b <= a);
return a - b;

function add(uint a, uint b) internal returns
uint ¢ = a + b;
assert(c >= a);
return c;

}
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import './StandardToken.sol';
import '../ownership/Ownable.sol'; w ﬁ-j

huobi.com

contract MintableToken is StandardT\ ken, Ownable {

1. 5-'|_7¥(7|‘ /E'f’hl—'ﬁ (ERC

bool public mintingFinished = false; 20)
2.0wnable LAY
mo?i{;i;tiigl\:i:i;ej) throw; OnIyOwner 1%iIET
= minter 25—

}

function Imint{(address _to, uint256 _amount)| onlyOwner|canMint returns (bool) {

totalSupply = totalSupply.add(_amount); 3 *E*E_\_”_I_%igiﬁ’ g’;flj_ll,

balances[_to] = balances[_to].add(_amount);

Mint(_to,__aj\mount); E - Tmlntable El‘Jtl:%'I‘Ey EJ-
. return true; u%BEEFﬁ

function|finishMinting() |onlyOwner returns (bool) {
mintingFinished = true;
MintFinished();
return true;
}
}
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import "./StandardToken.sol";

contract CrowdsaleToken is StandardToken { w ﬁ-j
string public constant name = "CrowdsaleToken";
string public constant symbol = "CRW";
uint256 public constant decimals = 18;

address public constant multisig = 0x0; 1 ﬁ{fi—/{kk’r 1—% Fa
T
2.9 F KA,
uint256 public constant PRICE = 500; . =
function () payable { &1-‘1-;.
createTokens(msg.sender); A T/ -
} 3.f|:1€FETH)ﬂ\’A]7!—\1Jcr
function createTokens(address recipient) payable { 1 1{%
if (msg.value == 0) { 4 E’ )

throw;

}

huobi.com

\d)d'r*

=
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(|

uint256 tokens = alue.mul(getPrice());
totalSupply = totalSup ;-.add(tokens),

balances[recipient] = balances[recipient].add(tokens);

if (!multisig.send(msg.value)) {
throw;
}
}

function getPrice() constant returns (uint256 result) {
return PRICE;
}
}
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Scalable computation

File storage
External data
Monetization
Payments

2014 VS 2017

Scalable computation
File storage

External data
Monetization
Payments
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Web 2.0 Web 3.0 (dApps) Status
Amazon EC2 ?
Amazon S3 ?

?
?

3rd party APls
Ads, selling goods
Credit Cards, Paypal Bitcoin

Web 2.0 Web 3.0 (dApps) Status
Amazon EC2 Ethereum, Truebit In progress
Amazon S3 IPFS/Filecoin, Storj In progress
3rd party APIs Oracles (Augur) In progress

Ads, selling goods  Token model

Credit Cards, Paypal Ethereum, Bitcoin, state channels, Ox -
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Round 1: Round 2:
Voter registration Voter casts vote
[ 1 [
SETUP SIGNUP COMMIT (Optional) VOTE TALLY
Election
- Voters . Ethereum
admlnlstr.ator register their Voters xpuvbllsh Votexrs ‘cl:ast computes the
updates list of voting key ¥ H(g*'g") g'g tally
eligible voters EXEVE >
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Election progress in the Open Vote Network
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r = sha3(sn + sha3(sn — 1+... (sha3(s2 + s1))))

1REN B ERRZ LS 5E
2 EWOH, #Eges 1B



LSRR T2

A
huobi.com

PEH B BY

* Randao++
- £ sequential PoW, AE{k#i “FREs”

r = sha3'900000000 (0] + block|N]. hash)
XOR
sha3'%00000%0 (2[1] + block[N]. hash). . .
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